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BaE

P2: power and forcr

1-16 °‘ N | 9:53

A cr .stant force delivers an average power of 6 watts to move an o' <ct. If the

ob,ect has an average velocity of 3 m/s and the force acts in the dii ection of
motion of the object, what is the magnitude of the force?

83 3 M/s puadl dc o Jawgin OB 13] .ouwr by 6 watts e 8)u8 Jawgio AL 393 1345

0ga)l 0 )lude Lad ¢ ﬁ 1 8)> olxil (3 345 89l

A L) Sty S D iy b R
You may use any of the given constants and equations where neoded:
g=-98m/s* P Fy = pFy
At
ST I
W = F.Ar = Frcos@ AU = mrh =—
Zm
W, = ~mgh ¥ =Ko+ Uy A;:}:FM
K= -;nw’ W= AK = ~AU myiigy + Myl = myy + myb,
Al L],
fia = my + my ix
1 -
W, == kx* = my
& m}‘mnlv
Vizs =
£2a= Imy +mg)
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motion of the object, what is the magnitu~ : of the force? G

CiB93 1 |l A w Jawgio OB 13 wux loyndd 6 Watts jw 508 Jawgio &, 899 ,3g5

T892l oda lide Lad ¢ ﬁ | &S,> ol ii »§ sall

R Ly Sltiady S o wi e Rl
You may use any of the given constants and equations whese nceded:
w
g=-9.8m/s* P== Fi= pFx
- PI
W = F.Ar = Frcos@ ; mgh K=—
Zm
W, = ~mgh K+U=Kg+ Uy AP =] =Fat
K= %m»’ W= AK =-AU myiigy + mybgy = miy + moyb
L = —zmz ]I’
2" g +mg)
1 e e
W, == kx* P=mv
= m:'"‘l]”
L =
2= I +myl ™
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hrrer gy s

Whick .ne of the following is a correct unit of Energy?

faslall Ao Wl }3&3&@@?

g Lk h oty o e iy Ly G5
You may use any of the given con and equalions where needed:
N
g=-98m/s T Fy = pFy
W = F.AF = Frecosf AU = mgh x=.?_r
Zm
W, = -mgh K+U=Ky+Us AP =f=Fnt
K = g mot W= AK = -AU myiigy + My, = Myt + My,
o _[ 2m;y }v
Tis = "—"l P
W, == kex? T v
2 e _ [y —my
{25 ml-lm,]u“"
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P1: predicting skills e

.ie physical quantity (impulse) has the same unit as that of which of ' .
following?

lae (Y dilas ylid Bu>g L) (2301) ALl dus!

i Momentum E
s ©
Power
8yaall O
Jrce
59l O
Er- gy O
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P1: classifying skill

‘ ' .nich of the following physical quantities groups does not contain a scalar
quantity?

velocity, force, power

8)dd (gl cdganiall de O
acceleration, speed, work o
Jaadl S:LC-J\‘JI f WA
: displacement acceleration, force @E
E B9l oy lull a3y :

energy, wo &, power

EJJ.E.]' J.:...'JJ'I cdadllall O
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P1: Applying equat’ s skill
‘ vall of mass (m) is thrown vertically into the air with an initial speed (v' .vhich
§8,S01 4l o (h) §las)) gadl

of the following equations correctly describes the maximum height (b~ .r the ball?

A i) Sadly SARD (e ai ey Sl
You may use any of the given constants and equations where needed:

g=-9.8m/s? ,..:g A

W = F.AF = Frcos@ AU = mgh K= %

W, = —~mgh K- < Kg+Up a;ujs-m
K-%mv‘ W= AK = ~AU For a special case where P, , -
2m;
Pfie = +my)

X
]
-
5
"l
I
g

|
#rie= [ "
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) _ . _ . o B . o
W = F.AT = Frcos@ *  mgh x=£ e
W, = —mgh K+U=Kg+U, AP =] = FAt
Ks-;-mv’ W= AK = —AU For a special case wher ;. =0
l’ﬂ._. y Lﬂ?’::l'l;] Vas
1 g
W, = ka? P= —
I""”‘=[l'|1+m:]“"""'
h= 2mv
g @)
2
mv
h="TC o
g
g ——— B e S S——— R R |
: 2 :
: _— i
: h=1t o}
i g s




P2: work
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A .cightlifter lifts a mass (m) at constant speed to a height (h) in time (). What is
.he work done by the weightlifter equal to?

a8h @ poy G Jaddl Gsluw 13k () 08) @ () Elabl JI Al de g (m) WS JUST adly ady
SJasyl

AR R SR A e S Ly Al
You may use any of the give .stants and equations where needed:

w
g=-98m/s? P=— Fr=pFy
At
- . p? ]
W = F.Ar = Frcos8 AU = mgh L
Zm

E¢@3‘°6-16°‘m| 3:10
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I R Sy S e i L Cad
You may use any of the given stants and equations where needed
g=-9.8m/s* p:--“"-‘r Fi = pFy
At
— 2
W = F.Ar = Frcos@ AU= h W
Zm
W, = —mgh U =Ko+ Ug AP =] = FAt
K:%mv’ W=AK = -AU For a special case wherr ;. =0
_[ 2Zm, ]
Vs = _m,+m; Vizs
1 - -
W, = kx? By
B ¥ _[mz——m,]v
£3X7] my +my)
mgh
mg
mk
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What is the momentum of a 20 Kg ca unball moves with speed of 110 m/s? G

110 M/s &8 2y 20 Kg LilsS adue diyda) duasd! ymll &S Lo

R g A S e g bt
You may use any of the given constants and equations where needed:
g=-9.8m/s P Fy = jtFy
Eypieg P
W = F.A¥ = Freosf U = mgh N=E;.'
W, = ~mgh K+U=Ky+Uqg AP =] =Fat
x:-zl-mv‘ W=AK = ~aU m,bigy + Mybes = myty, + myb;,
2Zm
”!|J=IW:N= Vo
w.:lkﬁ P=r
z L = m]_m.]]’
fin ™= iy + 1y (+ 5
1100 kg.m O
0 O O O O O 0 O O "
: :
: 2200 kg.m/s @ i
e O 4
0.18ks s O
5.5 kg.m/s o @

-

100%
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A ball is thrown up in the air, reaching  naximum height of 3.3 m. Using energy G
conserv’ ion law, what is the ball’s initial speed? -

W ¢ Blall Jaa> g I Tsliu! (3.3 m) 4] s plisyl Jel 089 eslggll 3 e 8,8 a3
§ duiy)) 8,81 ds

A i a3y T e e
You may use any of the given cor = and equations where needed:
w
= 9. 8m/s* e Fy = pF
g m/ T = pnFy
= Pt
W = F.Ar = Frecosf AU = mgh K= =
m
W, =-mgh K+U=Ky+U, AP =] = Fat
x:%m‘,: W= AK = -AU myligy + mylip; = myiiy, + myb,,
. _[ 2my ]
il my + my Ve
1
W, = = kx* mv
: oan[Domd,
Ll P
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P1: Text and formu' understanding skills e

Ba- .4 on the law of conservation of mechanical energy, which of t+ rollowing is
nut correct?

Towomo ) (b lan T @SS58l B3l aa> g3l e Tolase

AK + AU=0 @)

E= K+U
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E&E ‘o 10-16 O‘ N | 2:40
A 1000 W electric motor lifts a 100 kg safe .t constant velocity. What is the
vertical distance through which the m~ .r can raise the safe in 10 s? e
SRR VO | -t TOON PP dc w100 kg alsS &3 &8, 1000 W 8)uis Jass 3! & i
§OIg5 10 3 a3l ' <all lg a3y
A Al Sialy S e e L S
You may use any of the given con” 4 and equations where needed:
g=-9.8m/s* = g Fy = pFy
=10 P?
W = F.Ar = Frcos@ AU =mgh .
W, = -mgh K+U=Ky+U, AP =] = Fat
K-%mv’ W = AK AU For a special case where P;; ., =0
2m3
¥h== o mz]pa‘
W,:Ekxz P=mv
2 _[m2—my
AT [m]"




Grade 11 - Advanced -Physics- End of Term 2 2022-2023 - A BoEl ‘o 11-16 °‘ A | 2:29

P2: conservation of :chanical energy e

'_ A A

* .mad and Sultan start from rest at the same time at height (h) at the te- of two
differently configured water slides. The slides are nearly frictionless, v .ch
statement is true about Ahmad and Sultan in the given position?

3201 @ (h)glasyl e cB)l uis 3OSl (v 3ol Oy SN ud Lagedd Olalug dasi
e JWI Sl ¢ Loyts IV o0 QWIS ¢ il oSl lisee casle opppdonin (30 (Sl
Solial E"b}“” ‘v_..z;_,n.ll L3 Olalug des' He

¢ A_hmed

Ahmad has less po’ .tial energy than Sultan 0O
Olakes (yo 31 ag Bl 4p) e @

-

100%
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GM dm‘ L.ST ‘ i:lf)ﬂ.\ —JOu>= o.ﬁ U‘:IJ‘D‘ QUM'I 'C!:’}Ml &lm wﬂ.ﬂ Q)J-moﬁ (?y‘.‘“ -
Sobal 29l i gall (§ Olalng el e G

, Ahmed

Ahmad has less potenti- _nergy than Sultan o
Olake o JBT =, &8s 4ol s

Both have same kine . energy. O
Sl Bl juis ! o) Laads

Both have sai..e potential energy. O

Sultan has greater kinetic energy than Ahmad.
daxl e ST AS> Bl 4l Olale ©
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P1: Observing and © aparision skills e

" ‘/'2'_'.' ' -.:!.I_;" .I.F_:.'_.-,.::_."' |
" .sed on the potential energy equation, which of the following objects b- the
greatest gravitational potential energy with respect to earth’s surface”

o dwdlb dods a2 b xSTaw W fl.....o‘)" OR q;‘ ¢ ooyl Bl dolas L}LT.:LAJ.C.’I
5‘_,.5:)351
-
=
= |
— |
.
|
e |
=
A
=
=
=
=
o -
¥
5
2
=
E
E
3
=
|

------------------------------------------------------------------------------

BRI I AW I RN - R R LI

100%
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ol

o

The bicycle on the third floor
S Golall (3 dxlyll

The watering can on the second floor o
Sl @tall §- o1 5Ll

The bird « . the first floor
Jo¥! Bllall (3 ye "l

The cat or e first floor
(@)

d_g}“ L§Jll:|.|| Lj:\.hﬁi e

100%
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What is (3x10* eV) equal to in Joules? e
S9! Bu>gs (3x10% V) S3lw” o
(1ev=1.6x10"))
A L ) Sty S o i s A
You may use any of the given cons’ nd where needed:
g=-9.8m/s* & Fy=pFy
W = F.0F = Freoso AU =mgh "%
W, = ~mgh K+U=Ky+Up AP =] = Fat
Kn%m’ W=AK = —AU myiipy + Myl = myby + mob,
s L:’::l:]v""
W,v%h’ P v =)
o B
: 4.8x10°1° ©®:
1.9x10%3 O
1-9‘. 4.5 O
5.3x1024 O




P2: spring constant
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A sp~”..gis being stretched 0.07 m from its equilibrium position. If * .is stretching
requires 35.0 J of work, what is the spring constant?

ol Led ¢ Jiddl (pe 35,0 J Al 1ds (a3 1341551 qubge (30 0.07 M ldiay ) b ol
S50

A A Sy Sl O Ly i

You may use any of ©  wven and eq where i
w
g=-9.8m/s? P=- Fy = pFy
-, Pz
W = F.Ar = Frcos@ U =mgh K=—r0ao
Zm

W,:-mgh K+U=K°+U° ﬁP:J:FM

Eﬁﬁﬁ‘om-m °‘EJ| 1:55

0
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A el iy S e i Ly a3

You may use any of the given constants and equations where needed:

B & E 0|° 14-16 OI[I]‘ 1:52

g =—9.8m/s? p¥ =l
at
-, P!
W = F.Ar = Frcos@ AU = mgh K=2_m
W, = ~mgh K* =Ko+Ug AP =] =FAt
N=%m’ W AK = Al For a special case where P;.
_[_2ma
"“"[ml""-‘
W,=%kx’ P=mv -
N —my
vﬂ"_[::+mz]v‘h
1.43 x104 N/m
1.0¥" -N/m
7.14x102 ,m

119.5 N/m




P2: Force and displz ment graph

’ " ..e graph below shows the external force applied to a 15 kg object thro' ,nouta
displacement of 8.0 m. How much work was done on the object durin «his
displacement?

Grade 11 - Advanced -Physics- End of Term 2 2022-2023 - A

8.0 m Wyluke d>lj] I 15kg 4l puur (I 335001 Ayl 8901 0LsT 3Ll o))l g2
Ta>Vl o UM euund! (de 0jlns] @3 I Jakd) Hluda e

Ne. Force vs. Displacement

14
121 \ 4 \ 4 . 4 0\
-~ 10
z
8 8] —
g 6
o
Z 4 \.\
2 4
0 ) L) 1 T T L] .
0 1 2 3 4 ] 6 7 8
r  Jlacement (m)
AEMLEA T A e
You may use any of the » nstants and equations where needed:
g=-98m/s* P:; Fiy = pFy
W = F.AT = Frcosf AU = mgh x=£

100%

Eﬁﬁﬁ‘ow-w °‘I| 1:47
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g- . \\\.\ —
: < C
0 T

T T T

0 1 2 p 4 5 6 7 8
Displacement (m)

-l

AR Syl iy gD O i ey Ol
You may use any of the given and where needed:
>
g=-9.8m/s* P= Fyp=pFy
- I
W = F.Ar = Frcos@ J = mgh s
Zm
W, = —mgh K+U=Ko+U,g AP =] =Fat
K =%m,,: W=AK = -AU myiigy + mylcy = myi, + myt,,
[ 2m, ]
v, = w,
1= Ly +mg)
1 -
W, =k P=v
g _[me —my
Vs = o, +m:]"m
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P2: elastic collisions G

I A AE—

.nich of the following is correct about elastic collisions?

Tyl Slesbatll 3lats lagd Zazess (o Las (S

--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

Kinetic energy and momentum are both conserved.
OUL gaxe Laa il S\l 4y 45,1 A3l

The total impulse is equal to the change in kinetic energy.

A8, BUally aasl (oL + S g3l

P “amentum is not conserved it kinetic energy is conserved.
ab}é.?u: :L_‘S‘).k_ﬂ dall. '_,SJ‘B :.2\.!6_9.5_7\-_0 A aS):d! s

Total mass is not conserved b’ . momentum is conserved.
ab_,.n:m aS):.Jl a*as P :abﬁ.nmj_\'s a,.&.ll sl

100%
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